NEW DW2 CONNECTOR
MB-0266-3
UL 2016/03

DW2R002ZH1 DW2P002ZH1
2004 2 2 20
UPS
uL

muL File No.E67741 YA n
n 200A
- 2

=+2.75mm
n 2 n 0.2nQ

20 20nQ
n 200A n 100

2A n 25 +115
n 600V m AWGH22 ®1.5mn

100V

600V

JAE PMK Div. Proprietary. Copyright © 2016 Japan Aviation Electronics Industry, Ltd. 1 15



MB-0266-3

DW2RO02ZH1

MODIFY CODE

002:2 3

DW2PO0O20

P- 020:20 3

JAE PMK Div. Proprietary. Copyright © 2016 Japan Aviation Electronics Industry, Ltd. 2 15



MB-0266-3

DW2RO101

MODIFY CODE

R- 010:10 3

DW1S04K4F1

—‘VMOD IFY CODE

S: 4: AWGH22

04K :4000
K 1000 ( 1

.4,000 /

JAE PMK Div. Proprietary. Copyright © 2016 Japan Aviation Electronics Industry, Ltd. 3



DW2R002ZH1

SJ112004

Figure with spacer

MB-0266-3

D253-50570
(5J112009)

%ﬁ.ﬁé_w 1 IIII_. | :'ﬁﬁf%if&ﬂ for M6 screw(Notel) ) _EHFEE;E‘JIT?% ;;IEEIM;E:?;ER HOUS NG
COMPANY LOGO | 1/ 5 é (&) / S.Eact::.- T.Iugl {naerts BUSBAR
p_'s ol o e B

3 = a1 ;
=] I ) |
'S o | e POLARITY KEY
- . | (T MR Housing
s wis0n | | 221 =08 2-;15.' N S T - BT )
) ) \ Lo No. flote) 51.2 Supaly Contaet N
rngJEDr%HREHT VOLTAGE a— P BEE— (UL
EEER EREE
Note 1. PRODUCTION LOT NUMBER AS INDICATED.
Note 2. TIGHTEN SCREW(M6) WITH 5. 2[N - m]=0.3[N - m]
SIZE OF MALE SCREW RIDGE : ¢5.82~ ¢5.97
Note 3. DON'T PUT THE FOREIGN BODY WITHIN THIS RANGE.
F1. BrOBRFIZO Y MNo. #FRTR
(50'][ I;IEﬂBER?DISPLAY EXAMPLE O v FESERH)
L — 4B DAY)
B (108:0, 11FI X, 128 :Y) (MONTH OCT:0, NOV:X, DEC:Y)
& (FAERE) (YEAR LAST DIGIT ONLY)
%;%3-} (PRODUCT CODE)
F2. KERT (M6) T HL»UE 2[N m] 0. 3[N - m]
A LCIWSTE : ¢5.82~¢b5.
3. CORAICRMER 'f?‘dt‘u_ &,
4 REAR HOUSING 2 |PET COLOR: BLACK
3 |HELICAL EXTENSION SPRING 4 |STAINLESS STEEL -
2 FLOATING CONTAGT 8 |COPPER ALLOY SILVER PLATING
1 OUTER HOUSING 1 |PPS COLOR: BLACK

T B " = q_n = "

RO, DESCRIFT ION OTY. MATERIAL FINISH REMARKS
JAE PMK Div. Proprietary. Copyright © 2016 Japan Aviation Electronics Industry, Ltd. 4 15



MB-0266-3

DW2P002ZH1
SJ112005
s
OO, (5) f@ O,
A . .
I — N p- Q
WA w2 [N B
] (=L
& o @ q\‘f%/! <@> ) % & {@/)
! Hei é?r?{; 4ofi UB'UBSB@ |
L 73\ ‘Eﬁﬂ?é‘a}'% L FRA—BmYFIEE
LOT No. _ 53.6 +0.8 1.6 +0.8
VO \ERER/ EREE wsal | '
5.0 (Noted) - T
2-Through hole for M6 screw
(Note2)
MEFRE &I GE2)
Note 1. PRODUCTION LOT NUMBER AS INDICATED.
Note 2. TIGHTEN SCREW(M6) WITH 5. 2[N -m] +0.3[N - m]
Note 3. TIGHTEN SCREW(M8) WITH 12.5[N - m] =0. 75[N - m]
Note 4. HOLE FOR CABLE UNITY BAND.
E1. ETEOERI-Oy FNo. ZFT
[bﬂ:' I;IEYFEER?DISPLAT EXAMPLE O v #FHS M)
T | L %A (DAY)
AO0A 0, 11A X 128 :Y) (MONTH OCT:0. NOV:X, DEC:Y)
EEEE‘EEEF (YEAR LAST DIGIT ONLY)
& i53-+ (PRODUCT CODE)
F2, EEFL (M6) & FL25 2[N-m] 0. 3[N - m]
3. BESHL MB) & FL212.5[N - m] 0. 75[N » m]
F4. y—JLEFEA FAR
6 |GASKET 1 |SILICON RUBBER COLOR: GREY
5 |SLEEVE 2 |BRASS -
4 |SPRING PIN 2 |STAINLESS STEEL -
3 |PIN GONTACT 2 |COPPER ALLOY SILVER PLATING
2 M8 HEXAGON NUT 4 [BRASS NICKEL PLATING
1 |OUTER HOUSING 1 |PPS COLOR: BLACK
n%'scmﬂ IET‘I 1‘ﬁu:‘ﬁw.m Iﬁ.TERIﬁ ﬁmﬁ

JAE PMK Div. Proprietary. Copyright © 2016 Japan Aviation Electronics Industry, Ltd.




MB-0266-3

d s
ol ﬂl
PROJECT |ONS
\OT to tMote.2) PARTS No AL GhiesiE
’ ), | \_CONPANY 1060
l !_|‘
o —
N CAVITY Mo
- 4 ENo
DW2RO102 MATING SIDE /
(Hous i ng-B)
Table-1
Contact Part No Size Quter Diameter | Remarks
DW1P04K4F1 Signal
(SJ111311) AWGH#22 D15 Contact
DW1P04K4F2 Detected
(SJ111312) AWGH22 $15 Contact

Note 1. CONTACTS ARE SOLD SEPARATELY.THE APPLICABLE CONTACTS ARE LISTED IN THE TABLE-1.
Note 2. YEAR AND MONTH OF MANUFACTURED SHALL BE SHOWN AT THE LOCATION.
(LEFT:ONE LAST DIGIT OF YEAR, RIGHT:MONTH 123456789XYZ)

1. RAURFaLAY FAFSRTH
F2. @Tmﬁﬁtyﬁﬁ Eﬁ?féﬁ
({8 - FBE3IHT. 44T, Bl . B123456789XY1)
1 |INNER HOUSING i |PBT COLOR: BLACK
ne & Er 8 m 2 0" H E
N DESCRIPTION [i] )} MATER IAL FINIEH

Y, BRIV FER1DEBYTHS.

L |
REMARKS

JAE PMK Div. Proprietary. Copyright © 2016 Japan Aviation Electronics Industry, Ltd.



MB-0266-3

A
DW2R0101

SJ112007

POLARIZING KEY
HiEr— :

LOT MARK
By b@|S
] PART No.
HD%?‘HG g?.EA] e \ CAVITY Mo
A 2 S No A '
T CONPANY LOGD ™\ Arxblo
o R LA
= - T s
| 1 _J e/ =1 ]
- i :

| E— 36.4 +0.8

45

&
L

Table-1
Contact Part Mo Size Quter Diameter | Remarks
DW1 S04K4F1 Signal
(SJ111310) AL ®1.5 Contact

Note 1. CONTACTS ARE SOLD SEPARATELY.THE APPL|CABLE CONTACTS ARE LISTED IN THE TABLE-1.
Note 2. THE POSITION OF THE POLARITY KEY 1S DIFFERENT COMPARED WITH THE FOLLOWING PARTS.
DW2RO102 (SJ112008)

1. ARREFIVEI7 FAERTHY ., BRIV F7 IR 1ODEEYTHS.
T2 AUNREATE@MBLBEF—UEELV\RTHS.

DW2R0102 (SJ112008)
1 [INNER HOUSING -A 1 |PET COLOR: BLACK
"8 Z B I H W &k ]
N0, DESCRIPTION ary. WATERIAL FINISH RE

JAE PMK Div. Proprietary. Copyright © 2016 Japan Aviation Electronics Industry, Ltd. 7 15



MB-0266-3

B

DW2R0102

SJ112008

POLARIZING KEY
it ¥—

LOT MARK

o ks
B PART Mo
HOUSING No. [B] M—\ CAVITY Mo
NP INa[B] y COMPANY LDGD .AE ¥ 4 ENo
. = LY I
c+_I| iR )
— | ;‘-‘ ]
L5
17 | 2 E_..!Eﬁﬁ [
e e W | 1
- 30 - 36.4 +0.8
45
E:::==J
E::::::;EEEI— A
Table-1
Contact Part No Size QOuter Diameter | Remarks
DW1S04K4F1 Signal
(SJ111310) AWG#H22 @15 Contact

Note 1.CONTACTS ARE SOLD SEPARATELY. THE APPLICABLE CONTACTS ARE LISTED IN THE TABLE-1.
Note 2. THE POSITION OF THE POLARITY KEY IS DIFFERENT COMPARED WITH THE FOLLOWING PARTS
DW2RO101 (SJ112007)

1. KEREFEa 2 FAERTHY., BRI A7 FER1DEEYTHS.
2 AUSETRESRELEF—HEEVNSTHSD,
DWZRO101 (SJ112007)

1

PET COLOR: BLACK
i T

" H # E
MATER | AL FINISH REMARES

INNER HOUSING -B }1
[7]

£ B
DESCRIFTION

i =
TY,

JAE PMK Div. Proprietary. Copyright © 2016 Japan Aviation Electronics Industry, Ltd. 8



MB-0266-3

D253-50570

SJ112009

through hole for MG screw

y ™
NOTE. 2~ 26 “ NOTE. 3

1.7
107 .1,
B2
L)
]
|
|
\
]
L/

CAVITY No
Fv N,
(0%0)
N\t \/
0G0
Y OOO O
NOTE 1. This product is an optional spacer of DW2R002/HT.
NOTE 2. Month of manufacture
NOTE 3. Year of manufacture.
F 1. ARBEIIDW2RO02ZHIDRIFTFER N—HTH S,
F2. %iﬁﬁ% /N
3. HESF
1 [Spacer 1 |Zinc alloy E;gbeéﬂg$g:1ng
38 a B L ## ¥ i k ] ?
] DESCRIPTIOM 0Ty, MATERIAL FIRISH REMARX

JAE PMK Div. Proprietary. Copyright © 2016 Japan Aviation Electronics Industry, Ltd. 9 15



MB-0266-3

DW1S04K4F1

SJ111310

1.5
E = ——
:
Tl
.
G ' e [
e e N i m I ‘H'E
L 2.4 \ oa
A i
5:1)
|
_{’_ 1
16 35 __| W < - I L] _~ 99 203
b (7.6] 8.75 £0.2 | i _{ 205 203
'|‘ | 3 . 1 15 '
i@ @ 10z | "
of % ol
- s : |
'\ NOTES
A e
I_/"i'.. - { :_a_-"x__z
() ] g
N= ]
| = E
' ; _(*"'{--.__ -
| /@
— /3 NOTE4 |
.I ‘ f:;- I’- MOTE 1. THESE CONTACTS ARE SUPPLIED PER REEL. THERE ARE 4. 000 CONTACTS PER REEL
A = - — - - =@+ —MNOTE2. APPLICABLE MATING PIN - [I0. 64005/
e : ‘T’*’ i NOTE 3. APPLICABLE WIRE:ANGEZZ (0. 3mm~2) IWSHULAT|ON OUTER DIAMETER & 1. 5{STRANDED)
\ . MOTE 4. PART NUMBER, GQUANTITY AS INDICATED,
1\ . A /| MOTES. YEAR AMD MONTH OF MANUFACTURE SHALL BE SHOWN AT THE LOCATION
LY £ TN -.'LEF_]"EEIII_E LAST DIGIT OF YEAR. RIGHT:MONTH 123456739XYZ)
\\ . ) K,,/‘ EX. 102" —MANUFACTURED IN DEC. 2010
O ) g
N3 ,f{? E1. XA Y EY—LRTEEEN, 000[PC/ ) —1] ET B,
. - 2 WMAEATERNO0 GA£0 05T &,
e FAN -~ H3 AREANGEZ20 Jom2) 18N, BEAS O SORMRET S,
e 4 BrOUBCRE, SEERALEBSENELATLS,
5 BronB-HAFEAOERTT .
71401l 7 2600 | (X8 - mENG. 45E. S# - [123456789KYD)
Sini el LR - #0107 —MiEE H2010%128.
3 |SOCKET CONTACT 4000 |COPPER ALLODY TIN PLATE —
2 |PAPER TAPE 1 |PAPER — —
1 |MAGAZINE i |PAPER — —
EEicd E] ) 8 = ) o it £ ] |
M. DESCRIPTION ary. MATER | AL FIRISH REMARKS

JAE PMK Div. Proprietary. Copyright © 2016 Japan Aviation Electronics Industry, Ltd. 10

15



MB-0266-3

2600 |

DW1P04K4F1

SJ111311

(1]

[18.25)

I +0.2
(PICTH)

| - £.90 103
9.156 £0.3

g

2.05 403

T

40

PIN CONTACT

g NOTE 1
NOTE 2

LR NOTE 3
A\ HNoTE4

NOTES

g BN -

P

COPPER ALLOY

Lo

THESE CONTACTS ARE SUPPLIED PER REEL
APPLICABLE WIRE:AWGZ22 (0. 3mm2) INSHULATION OUTER DIAMETER: <
PART NUMBER. GUANTITY AS INDICATED.

THE MARK DENOTES TYPE OF II‘IE WHIACT AT THE LOCATION SHOWN
: “A” |5 FOR SIGNAL CONTACT FOR DETECTED CONTACT (SJ111312)
YEAR AND MONTH OF MANUFACTURE EHM.L BE SHOWN AT THE LOCATION
(LEFT:ONE LAST DIGIT OF YEAR, RIGHT MONTH 123456789XYI)

EX. " 102 —MANUFACTURED IN DEC. 2010

E£Ia9 FRU—LETHREEA, A000[PC/ Y —L]1ET D,

. EAREANGE22(0. Jam"2) HE, HENEO SDERETS,

HErOUECSE. REERAL:-NIEANBLATLS,
BT EO L ‘.‘?l‘-ﬂ'}ﬂfﬂi = L.
ﬁ'{'} l‘--'S,J1l1312‘.'d3ﬁ|JZB"£!Tfé,

3¢EE TR8XYZ)

]

BT

u

W

N

\y

s
T
=HHU°
:mﬁ\'
M2

TIN PLATE

0. 25
2.8
=
==

THERE ARE 4,000 CONTACTS PER REEL.
“1. 5(STRARDED)

PAPER TAPE

1 |PAPER

58
NO

MAGAZ INE

& [
DESCRIPT ION

1 |PAPER

#H H
MATER AL

it £
FINISH

JAE PMK Div. Proprietary. Copyright © 2016 Japan Aviation Electronics Industry, Ltd.

15




MB-0266-3

DW1P04K4F2

SJ111312

& L —I [L—
| |
I--'l ! —
a1 4
NOTE4 I "
5 e TETHED j‘ y l - -
- e i fr 1 - |-
- i
L 1675 J L] e e
L.ll t §S
2015 L I | ==
A i
5:1 |
oy
I
; 2,89 £0
- (12.35] o 915 203 e AET |
| | PR
‘ L 3 L5
I . = | S | -
| 1 L & I ) I LI
el ! 10 I — . T 1'I L ]
o | | e | . = od| i ! ol
(NP = E - 1T — { o L
- e | - =—=4
bl (185} NOTES
=
[= i~
= NOTE3. 2
]
H = NOTE 1. THESE CONTACTS ARE SUPPLIED PER REEL. THERE ARE 4, 000 CONTACTS PER REEL
1 r \ NOTE2 . APPLICABLE WIRE: AWGH22 (0. 3mm™2) INSHULATION OUTER DIAMETER: @ 1. 5 (STRANDED)
= e NOTE3. PART NUMBER. OUANTITY AS INDICATED.
g [ K - NOTE4 . THE MARK DENOTES TYPE OF THE CONTACT AT THE LOCATION SHOWN
= T e . e e e e - =2 . A" 15 FOR SIGNAL CONTACT(SJ111311}, AND "B FOR DETECTED CONTACT
. | L NOTES. YEAR AND MONTH OF MANUFACTURE SHALL BE SHOWN AT THE LOCATION.
\ - U (LEFT ONE LAST DIGIT OF YEAR, RIGHT:MONTH 123456789%YZ)
\\ ] 44, EX. 102 —MANUFACTURED IN DEC. 2010
Y\ Mo 1Ay E1. A28 LY —AETREER, AR Y 1] LT B,
_— g FAN 2 EAREANGE220 Jm 7) HY. BEAEG] SOMMETS,
L i ' E3. BTouEcs £, MESHEALEESEABEAATLG,
Fa4 ErouBomnEarss FoHSETL.
7 BRI RS RS OBIZA, BHEI LS Y FOBEBERRTS
—_r—— 5 BFOUB-HNEFAEERTT S,
7 © (M B3, E. B8 - F123456789X12)
e B 107 -l R2010E12ZR
3 [PIN CONTACT 4000 |COPPER ALLOY TIN PLATE —
2 |PAPER TAPE 1 |PAPER — —
1 [MAGAZ INE 1 |PAPER — —
=4 £ W "l H W # a2
] DESCRIPT IOM aTy, MATER [AL FIKISH REMARK
JAE PMK Div. Proprietary. Copyright © 2016 Japan Aviation Electronics Industry, Ltd. 12 15



MB-0266-3

7 3FERN 5 DE 2-92.8 +0.1
S .20 0.1 6.1 +0.1
; 9.4 401 =
| R1.5(max) H
Lo ~
I \\\ﬁ_)! I

™ e | I

®© | o

© 4-RS +0.5 / sl —

= S I N N A A B v

= 1 | ~

= \ 2-¢6.1 S

— | Panel| center Lo

~

[ee] | A Y 1

| N T

I N I ——
+ -
® 107.7 +0.3 S
- 124(min) note. 3 ~

®5.3 +0.1

\T\,‘;\
1|} M
M6-screw ~ | ;

10. 5 +0.1

panel center ‘ _ o
[ . (=
\r S T
M~
M6-screw e o
o~
@7.3 +0.1 3

\@\

JAE PMK Div. Proprietary. Copyright © 2016 Japan Aviation Electronics Industry, Ltd. 13 15



MB-0266-3

DW2
o % DW1P04K4F1
DW2P020
DW1P04K4F2
D253-50570
DW2R002ZH1 D253-50570

A A | DW1S04K4FL
DW2R0101 '

DW2P002ZH1

DW2R0102
B

JAE PMK Div. Proprietary. Copyright © 2016 Japan Aviation Electronics Industry, Ltd. 14 15



MB-0266-3

NO.
SJ112004 DW2
SJ112005 DW2
SJ112006 DW2
SJ112007 DW2 A
SJ112008 DW2 B
SJ112009
SJ111310 DW1
SJ111311 DW1
SJ111312 DW1
JACS-30188
JAHL-30188
17703488
T700315
1
2 ' AV FA
153-8539 3-1-19

TEL 03-3780-2882 FAX 03-3780-2946

JAE PMK Div. Proprietary. Copyright © 2016 Japan Aviation Electronics Industry, Ltd.

15 15




